***warning***

This study guide does not cover box plots. There WILL
be some on the final! Please study accordingly. You can
practice box plots by doing the practice homework on
box plots. There are also box plot questions on all exam

2 practice exams. . b . “. L\
E S be) £

Study Guide for the Final

Final Exam Format \') o Ke A -0 (;(— gq ) J-i—'; oA S

The final is comprehensive and all multiple-choice (Scantron graded).

It will have 100 questions (i.e., 100 Scantron bubbles to fill in) with this approximate breakdown:
Exam 1 material: about 22 questions

Exam 2 material: about 22 questions

Exam 3 material: about 22 questions

Post Exam 3 material: about 34 questions.

Exam 1

Chap 1: Controlled Experiments —Researchers assigns subjects to treatment and control groups
Main Idea: Treatment and Control should be as much alike as possible
¢ Randomized, double-blind design is ideal
* Non-randomized controls usually introduce systematic difference between treatment and
control groups that could bias the result. These differences are called confounders.

Chap 2: Observational Studies— Subjects themselves or simple fate determines treatment and control

groups. Researcher just observes.
Main Idea: Treatment and Control groups are likely to be different, these differences can mix up

or confound the results.
° Very difficult to conclude causation from association.
* With observational studies you must always think about what the likely confounders are.

Sample Questions on Experimental Design (taken from old finals)

The next 2 questions pertain to the following:
In order to assess the effects of tanning beds on the incidence of skin cancer, a researcher collected and compared mole biopsies

from individuals who reported that they utilize tanning beds regularly and compared them to mole biopsies from individuals
who reported never using a tanning bed. The researcher analyzed the moles for cancerous cells and was unaware of which
samples were from the regular tanning group and the group that had never used a tanning bed.

Observational study because the people themselves chose whether or not to tan

1) Isthis an observational study or a controlled experiment?
Y} Randomized controlled experiment because one group did not tan

2) Suppose there were a significantly higher number of cancerous moles for the tanning bed users than the non-tanning bed
users. Can you conclude with certainty that using tanning beds leads to cancerous moles?

No—you can't say for sure. There may be other lifestyle differences between people who choose to tan vs. people who

do not— for example sunscreen habits, differences in diet, etc.
¢) Yes, you can say with certainty that using tanning beds leads o cancerous moles because there were a significantly

higher number of cancerous moles in those individuals who used tanning beds

Yes, the researcher was blind to which samples belonged to those who tanned and those who didn’t
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The next 2 questions pertain to the following:
Last semester, I compared the average Final Exams of Stat 100 students who fully completed their lecture notes to the Final
Exams of students who skipped 3 or more chapters from the lecture notes and found a significantly higher final exam average

for those who fully completed the lecture notes. N g & A /
f R D
3) Based on these results which conclusion fits best? NQJQO( Y‘Uq‘ﬁh‘ 'P
a) There is no relationship between completing the notes and scoring better on the final exam. ol loﬁs :
Completing the lecture notes definitely helps students score better on the final exam. / | e (‘,Dfﬂ’ 0
@ Completing the lecture notes is associated with—and might cause — students to score better on the final exam./ bw af Oﬁw\(_
Completing the lecture notes is associated with but definitely does not cause students to score better on the final exam. o ) ffﬁ
4) Which of the following is likely to confound the results? Mtﬁ’ﬂoﬁ\\
a) Students who complete the lecture notes are likely to become over-confident and not study as much for the final exam ® w)’ ﬂ Y
/~} ) Students who complete the lecture notes gain valuable practice that helps them to do better on the Final Exam. - W Y\Cd\
'H’NS m%ﬁw{f Students who complete the lecture notes are more likely to be more serious students who maintain other successful i
mm}i _study habits. g oxe.

5 ClE=Znd S
mgowﬁ/ﬂﬁﬂfhe next 3 questions pertain to the following study: x@\W
KS WA study followed the diet and health habits of 500,000 Americans ages 50-71 over a 10 year period and found that those who ate

N)fﬁ the most red meat had about a 20% higher death rate from cancer and heart disease than those who consumed the least red meat.
5) Is this an observational study or a designed experiment? )
@ Observational Study = Wé didny f&d 4y je et "W(JQST ODSCI”YZCE
Designed Experiment with non-randomized controls QSQ’Q‘\&\
¢) Designed Experiment with randomized controls &%QJ&S@\ R
D \)
6) Based only on the results of this study, which of the following conclusions is best? ﬁ;&" gg\‘b

a) Among Americans, high red meat consumption causes an increased risk of heart disease and cancer.
) Among Americans, high red meat consumption is associated with, and might cause, an increased risk of heart disease and can
T Among Americans, high red meat consumption is associated with, but does not, an increased risk of heart disease and cancer.
d) Among Americans, high red meat consumption is unrelated to heart disease and cancer. ) d«)
nabirs A

Thoge wino ¢ [ed 7y , .
7) Which of the following could confound the results? A mﬁe mMore tikely 1o hate unine ety owl ¢ C%%\geﬁ‘ﬂ
Unhealthy habits- Americans who eat the most red meat may also be more likely to engage in unhealthy habits
(like eating less vegetables, smoking and drinking) that would put them at higher risk for heart disease and cancer.

b) Genetics--some people are more prone to heart disease and cancer regardless of their diet. ~ N9 7€ latignship
c) High meat consumptions--Americans have a much higher consumption of red meat than the rest of the world.
d) All of the above.

e) None of the above

The next 2 questions pertain to the following:
To test the effectiveness of a new drug (Provenge) designed to treat advanced stage prostate cancer, researchers conducted a

clinical trial, The subjects were 512 adult American male volunteers with advanced prostate cancer. Half were randomly
assigned to take the drug and the other half were randomly assigned to take a placebo. Neither the subjects nor the doctors who
evaluated them knew who was in which group, After three years, 32 percent of those who got Provenge were still alive,
compared with only 23 percent of those who got the placebo. (The difference is statistically significant.)
8) Which of the following statements best describes this study? S

a) This is a non-randomized controlled experiment without a placebo > oC OJ)S? dod()f
er\(i‘i]“ndg) e °
pIC sk }D\.\?&

This is a non-randomized controlled experiment with a placebo (
This is a randomized controlled double blind experiment ~—""
) This is an observational study with controls dOW ‘mef
ne m@}) 3

9) Which of the following conclusions is best?
a) This study is likely to have confounders since the people who received the drug already had cancer.
b) This study is likely to have confounders since the people who received the placebo already had cancer.
¢) This study only shows Provenge to be effective when people are randomly given it, and therefore provides no evidence
of how effective it would be if given to similar populations under actual, non-random conditions.
@ This study is strong evidence that Provenge can help increase survival time among those with advanced prostate

cancer. joeenise, It 18 vandomized -+ doubic bhind = no confoundus
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The next 3 questions pertain to the following study:
A recent study asked 700 randomly selected [llinois adults whether or not they regularly watched reality TV and how happy
they were with their lives. Those who regularly watched reality TV shows rated themselves as significantly less happy than
those who did not.

10) I this an observational study or a randomized controlled experiment? \N?/j ,,t(,d v\)y\‘(z O“éb’ ﬂ%
Observational study because the subjects themselves chose whether or not to watch reality TV = &34
b) Randomized controlled experiment because the subjects were randomly selected to participate in the study.
¢) Randomized controlled experiment because the subjects were randomly selected to watch reality TV or not.
d) A non-randomized controlled experiment, because the subjects were non-randomly assigned to watch reality TV or not
by the researcher whose intent was to make the 2 groups as alike as possible.

11) The study concluded that, reality TV makes people more dissatisfied and less happy with their own lives. Do you think the
evidence supports this conclusion?

a) Yes, since the people were randomly selected for the survey, those who watch reality and those who don’t must be
similar on all characteristics. Since the only systematic difference between the 2 groups is reality TV, it must account

for the difference in happiness.

@ No, since the people were not randomly assigned to watch reality TV or not, there could be other differences between
the 2 groups that could confound the results, makm%; it look like reality TV is to blame for their unhappiness when it’s
really something else. — (QULA DR COﬂfO\ﬂ"(}US

) Yes, people who choose to watch reality TV tend to be people looking to escape their lives, this study proves that such
escape is futile and only leads to more unhappiness.
d) [t’s impossible to draw any conclusions from this study, since 700 people could not possible be representative of the

entire adult population of Illinois.

12) Wthh of the following could confound the study making it look like reality TV is to blame when it’s not?
The people who choose to watch reality TV may be more unhappy to begin with and reality TV has nothing to do
with increasing or decreasing their unhappiness.

b) Reality TV may have a numbing effect on people, tuming otherwise active people into passive spectators causing
them to be more unhappy. — YhiS 1S MOYZ Cdusal or NOW TVCoWad Covse un roppINess

c) Both of the above are likely confounders.

d) None of the above are likely confounders.
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Chapter 3: Histograms
Be able to read histograms, locate the median, and its relation to the average, locate various percentiles, and find the percentage
of the area that falls within the various blocks.

Sample Problems:

Questions 1-8 pertain to the histogram below.

The figure below is a histogram for the exam scores of a group of students. The height of each block is given in
parentheses Assume even distributions throughout each interval.

f
3 (2.5) 9.(.\03 > 90 o o
% per 2 @) oTeq = Width x hezﬁnf
poinl A Olo
| (N ORI N )
©35) 25)= a4
Higo) = 35Y, 071 4
0 ] 50 70 80 90 100
Points 2 .f) UD} ;01
14) What percent of the students scored in the 90-100 block? ‘g"g ’ . . ¢,
10% b) 15% ¢) 20% d) 25% e) 30% 1(10)= 107
15) The average is the median. ) R )
long, jeft hand tasimeans
@ less than b) greater than  ¢) equalto  d) cannot be determined oNE < redion

16) Which interval has more people, 0-70 or 70-90, or are they the same? . =& o) o
a) 0-70 b) 70-90 same © _7D nas 9 ~ ! _"?O / s ‘_46 / g
76-%0 hos Q5% 7 A0% =4S %

17) The percent of students who scored exgctly 75 Is closest to..... T
gt @zy ¢) 25% (Juﬂx;'r e hexgm of T piocke — O’Z‘Q%J

a) 1%  b)2% o) 3% 5%
18) The median score is closestto ... a)50  b)60 )70  d)80 72 (B0, BooVe ¥ BRICu)
U{S‘iob&\ow)

19) What score corresponds to the 70% percentile? a) 50 b) 60 c) 70 @ 80 e) 90 C7 O%e bQ\DWX

20) Suppose 10 points were added to all the scores so that the new scores ranged from 10-110. How would that affect

the median, average and SD in the histogram above? 10N
a) The average, median and SD would all increase. (%v\;igm%
The average would increase, the median would stay the same and the SD would decrease. ng A
The average and median would increase, but the SD would stay the same. (A et mﬁdlm !
The average would increase but the median and SD would stay the same. o e
e)  The average and the median would stay the same, but the SD would decrease. bbbls‘gg}z;g%ﬁm@ SQWC

20) Would the normal approximation be appropriate to use to figure out what percentage of the scores fell within various

intervals?
a) Yes, if we knew the average and SD of the data we could use the normal approximation here.
No, the histogram doesn’t follow the normal curve closely so we can’t use the normal curve to approximate

percentages.
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Chapter 4;: Average, Median and SD

Sample Problems:

. ! M ‘
The next 3 questions pertain to this list of 4 numbers: 3, 5, 6, 10
21) The median of the listis. .. @ 55 b3 o2 A4S e)3S 5Tl | 0.5
22) The average of the list s ... 25 w4 93 a2 (J6 2:5+r0 _ G
R
23) The deviations from the average of the list are: 4
a)1,-3,4,0 b)-1,-2,2,6 ¢ -1,2,-3,0  d)0,1,3,4 -3,-1,0,4 vojue - Qe
- B, -t 1IC70
Questxon 24 3~ =
If a list of numbers has a SD of 0 then . T dQVILiﬁOQS mUST bﬁ ¢ -3 -1, 0 .
All the numbers on the list must be the same. \}CUJ/ ! ! f
The average of the numbers must be 0. \/CUIK S =ave

¢) All the numbers on the list must be 0.
d) There are 0 numbers on the list since the SD can never be 0.

Chapter 5 : Normal Approximation

Sample Problems:
The next 3 questions pertain to the following:
Assume Math SAT scores of a large group of students are normally distributed with an average = 500 and a SD = 100.

value-ave
25) About what percentage of the students Math SAT scores are below 3007 =
5% SO
AD25% 300-900 o o\ s
c) 95% 00 2 QS e R &
d) 97.5% —i-
.—-2 2_

26) What Math SAT score corresponds to the 10® percentile? (What score is higher than only 10% of the population?)

ay 335 DO —
7 Z-scere ol o
5 300 i 10 8o Q/v cum enﬁ’ \EOF C
00 7 S Values Ove + Z(SDD
- ____‘_\_-—___—_—_____» - ~ *
S5, T078 vadue= D06 - 1. 3(1c0)-
27) About 38% of the students have Math SAT scores between and . “
a) 320 and 680 2% > 2= 370
b) 410 and 590 ) i
450 and 550 vodue = Qve 1 Z (SD)
d) 340 and 660 e '
¢) 370 and 630 value= 500 +0.5 (100) vadue = ©00 - 0.6 (1602
= 550 = H50
28) About what percentage of the students Math SAT scores are above 4007
a) 16%
68% Z= HOp-doG -
84% -
e %TPB 1% 100
(9%H =34
29) What Math SAT score corresponds to the 96™ percentile? (What score is higher than 96% of the population?)
a) 700
7 675
@ 650 Z =17 g
d) 625

= r— Vadue = Ve +Z (S
5oo + (775005

TLIS

ty
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Exam 2:
Chapter 6: Correlation

The correlation coefficient (r) measures the linear relation between 2 variables.

Sample questions:
For the next 4 questions match the scatter plots with their corresponding correlation coefficients

a)
b)

)

d

e)

PlotA

PlotB PlotC

1) Correlation coefficient =-0.79  a)Plot A b) Plot B
2) Correlation coefficient= -046  a) Plot A Plot B
3) Correlation coefficient = 0.36 a) Plot A b) Plot B
4) Correlation coefficient = 0.90 @ Plot A b) Plot B

PiotD

@ PlotD

¢) Plot C

¢) Plot C d) Plot D
@Plot C d) Plot D

¢) Plot C d) Plot D

5) For each of the following pairs of variables, check the box under the column heading that best describes its

correlation among typical STAT 100 students:

Number of Stat 100

Number of Stat 100 .
classes you missed.

classes you attended.

Correlation Exactly
-1
How much you party How much you drink 0
How much you exercise Body fat % O
Height GPA 0

% of Stat 100
classes you attended

Number of Stat 100 classes
you attended.

PQﬁq 1he mofe Yeuarinie

1t posiave.
e but s not QXQCX‘

(\cmtsmgt
oh \f%
w,!\ 0ve Z.Odr'm&

0..the more \)w

party
b. e ’ﬂOrQ Jou exeraise, The less fpody faf
o wil) ove

N

EXeyQise

[tS ne axmve
bl s \’)O’C exosx
bg,cmxse. | cont

\fu exeyQse. 30 mn
\;o

C. hel%ht +E@PH - no relotion !

will hove 0% fox.

0

X

O
(]

]

€. the more Qs \ou

(Hint: Every column should have exactly one box checked.)
Between
-land 0

About Between Exactly
0 Oand 1 +1
o X O
0 O O
12( | m]
0 0 O
0 o X

4 e more QOSKS You ddrend,

ﬂ%fm@ O m»s s
-1
(\‘\\\5

rere YWX)Z 20+
oummwﬁ 21 jeu
S Mnow \/W &Hendﬁd

Ckﬁem\ e

hugher % you. affended

OSH‘IVQ
186 ax0Ck -
010 lf‘ﬂ’)&fﬂ WQI’!L v
- c\mm
Uasss uidtel \;w ﬁfw’
Hou wWeht 1o |

%—x 10080 !
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Chapters 7 - 9: Regression

*  The regression line is always flatter than the SD line. (The 2 lines are the same when =1 or -1)

¢ To make a regression estimate first convert the X value or percentile to a Z score, then multiply by r to get the Z
score for Y, then convert to the Y value or percentile.
The slope of the regression line is r (SDy/SDx)
To find the Y-intercept, plug in the point of averages into this equation: Y = slope X + y-intercept.
The prediction error = actual value of y - predicted value
SD of the prediction errors= sqrt (1-r%) SDy

2 @ & o

Sample Questions:
The next 9 questions pertain to the height and weight survey data from 640 Stat 100 students. The 5 rounded summary statistics

and the scatter plot are shown below: (16 pts.)

HyWe ight

300

Height 67" 4"

Weight 145 1bs. 30 Ibs.

200 Correlation: r=0.7

15¢

200 -

50

55 60 (-3 70 78 80 8s
HyReighe

5) Two lines are shown. Ope is the regression and one is the SD line. Which is the regression line? Cﬂq@ ore w )‘ﬂ/} "}’)’)c
Choose one: @Line A b) Line B smadlerS [OPC >

6) Which line is the point of averages on? a) Regression Line only b) SD line only @Both d) Neither
(its Where the (ines terseet)

7) One student is 2.5 SD’s above average in height. What is the regression estimate for how many SD’s above average he is in

weight? % - B0 T=1.7Y

a) 2.1 b) 14 @ 1.75 d)0 ZxT 5 l

ALY A}
8) One student is 63”. What is the regression estimate for how much she weighs? (é__:__(_?l = -} -~} X, 7 =", T
n L—* 1
a) 127 lbs. 124 1bs. ¢) 129 lbs. d) 115 ibs. volug = ove ¥ 2o <[ = qu) + (’fﬂ(ﬁ@):
q 124
= fy
9) The SD of the prediction errors when predicting weights from heights is \’ =% - DP\-{
a) 30 lbs. b) 0 lbs. ) 4" @w/l -0.7% * 30 Ibs. e) VI-072 % 4" ) \
O 30

10) What is the slope of the regression equation when predicting weight gom height?

a) 47/30 1bs. b) 30 1bs./4” " @).7 (30 1bs./4™) d)0.7 e)0.7 (47/30 1bs.)

Slope = T1:5Dy Ov‘f(_@,Q = B35
ox s
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e sicpex height ©
11) What is the y-intercept of the regression equation when predicting weight from height? V\L,\O\Ht op \5

s = 5.5 (L th

a) 206.75 @-206.75 c)75 d) 138.75 o -206.15
12) Suppose the 640 heights and weights were converted from inches and pounds to centimeters and kilograms. Would the
: ) 9 . i
i~ (;\?gfﬁcwm chanee b) Yes ¢) cannot be determined from the information given (,dOi"l'[ W ¢ ﬁ. W‘ ’l’\}ﬁ\{
Al X v Y by SBYE posite)
13) If point X was removed were deleted the r would .. { aj increase  ii) decrease ili) stay the same iv) not enough info
(Temovimg an oudier)

The next 5§ questions refer to this situation: A large class took two exams. The scatter plot of the exam scores was roughly
football shaped. Here are the 5 summary statistics. (8 pts.)

Average SD .
Exam 1 30 10 Correlation:r =0.6
Exam 2 70 20
-
14) The slope of the regression equation for predicting Exam 2 from Exam | is Mz 38 . LD(QD&) 1
)03 ii) 0.525 @ 12 iv) 0.6 v) 0.6857 be (\D\
15) The y-intercept of the regression equation for predicting Exam 2 from Exam 1 is \’z Mx+ b
i) -14 i) 8 jiif) -4 @ 26 v) 59 = \-Mmx = 10~ 3q9 (%D\)
= 70~

16) The regression equation for estimating Exam 1 scores from Exam 2 scores is: Exam I score =0 .3 * (Exam 2 score) + 59
Use the given re@ssmn equation to estimate the Exam 1 score of someone who got a 75 on Exam 27 exomny = 0. 3 (76)* 56\

815 b) 85 c) 82.5 d) 80
= J3.9 +B9
17) There’s about a 2/3 chance that your estimate in (i) above is right to within pts. = %\‘ 5

\S -T2 . SD\{ )
a) V1 -0.6% *¥20 ﬁl-— 0.6% *10 )06 d) 10 e) 20
{1-:02 - 10 )

18) If 10 points was added to everyone’s Exam 2 score the correlation coefficient would...
a) Increase b) Decrease @Stay the Same

Questions 19-21
Suppose IQ’s of husbands and wives follow the normal curve but have different correlations in different countries.

Consider 3 countries where the correlation coefficient between husbands’ and wives’ IQs are as given in the table below. If a
husband has an IQ in the 90® percentile, estimate his wife’s IQ percentile for each country.

Husband’s IQ Percentile Rank r Wife’s IQ Percentile Rank

19) 90" 5 a) 10" b) 267 ¢ 50" @ 747 ) 90"
20) 90" 1 a) 10" b) 26" c) 50" d) 74" @90”'
21) 907 > 310’" b) 26" <) S0"  a) 74" e) 90"

2:).33&"?"[95 -—-)]()ﬂ’) q
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Chapters 10-11 Probability
Sample Questions

The next 6 guestions pertain to randomly drawing

(%

from the box contamm thkW
s i
125

23) Two tickets are drawn at random with replacement. What is the chance that both tickets shaded? ”a]"d“
a)3/5 x 2/4

3/5 x 3/5 c)3/5 dyl/5sx1/5 e)2/5x1/4
24) Two tickets are drawn at random without replacement. What is the chance that both tickets are shaded? fang® = {Y\thpig
@ 3S5x24  BY3Sx3S )35 d)USx1S  e)2s5x 14

25) Five tickets are drawn at random with replacement. What is the chance of getting
a) 1 - (3/5)°

at Jeast one shaded ticket? |~ none
b) (3/5)° ¢) 1- (4/5)° d) (4/5)° ﬁ 1-2[5y

Chok 2 winte /5 7oral HOUTS
26) One ticket is randomly drawn. What is the chance of getting either a shaded ticket or a ticket marked 3”7 O R= add“'\ 6N
a) 2/5 @ 4/5 ©) 3/5 a1 2 L
27) 36 draws are made at random with replacement. The EV of the sum of the 36 draws is.. W\a;s\-smded 3
a) 100 b) 50 c) 125 d) 75

28) The SD of the box is 2.8. What is the SE of the sum of the 36 draws? —2 SE UM = DM = . % ,! By = ‘(_o .<K
@ 16.8 b) 2.14 c)214 d) 100.8
The next 4 Questions pertain fo rolling fair dice. (4 pts.)

} 4
L\\chﬁs o H |

29) Two dice are rolled. What is the ¢

. hgnge that the sum of the spots is 57 2 2
i) 2/36 ii) 3/36 4/36 iv) 5/36 v) 1/6%1/6 v) 1/6 + 1/6
30) One die is rolled 3 times. What is the chance of getting all 6’s?
i) (5/6)° (1/6)* iii) 1- (5/6)° iv) 1- (1/6)° v) 3/6
31) One die is rolled 3 times. What is the chance of not getting all 6’s? l CL\
i) (5/6) ii) (1/6)* iii) 1- (5/6)° @ I- (1/6)° v) 3/6 m\
32) One die is rolled 3 times. What is the chance gf getting at least one 67 (,0,“ N DAY :
i) (5/6)° i) (1/6)° 1- (5/6)° iv) 1- (1/6)° v) 3/6 ANSW F‘ro &30) _
ax \eose | = (- none

11

- (BY

Ne = Otd+3 13+ . 3
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The next 4 questions refers to the following medical test:

Only about 0.1% of young women who participate in routine screening have breast cancer. Suppose 90% of women who
have breast cancer will correctly get a positive result and that 20% of women without breast cancer will also get a positive
result (false positives). Fill in blanks 1 and 2 below for a typical sample of 10,000 young women (8 pts)

Tests Positive Tests Negative Total
Has Breast Cancer Cell 1 N - § 10
ce .a0 (io)+ g 1/ |
Does NOT have Breast Cell 2 ‘N%O"‘M‘%Z \;\_/ 7992 9,990
Cancer
Total 2007 -~ - 10,000
79493
33) Fill in cell | with the correct number Al bl o2 @9 €)9.9

34) Fill in cell 2 with the correct number \Y\@"D' a) .1 b) 20 ¢)99 d) 999 1998 ‘L\)'\U“Y )
V‘\O:)L /PO}

- Zx 100%

2) 90% b) 20% ¢) 50% d).1% @o 45% 9 / C 0“7 °

35) If a woman gets a positive result, “Hhie chance she rea lly has breast cancer is closest to..

e
36) If a woman gets a neganve res u]t the cEance she really has breast cancer is closest {0..
a) 1% b) 0.1% @0.0125% d) 1% ¢) 045% ‘/‘MC\ X180

Theg:

The next 2 questions refers to the following medical test:

A screening test for AIDs correctly gives positive results to about 99% of the people who have AIDs and incorrectly gives
positive results to about 6% of the people who don’t have AIDs. 1% of the population who take the test have AIDs.

The table below gives the results for 10,000 people.

Tests Positive Tests Negative Total
Has AIDS 99 1 100
Does Not have AIDS 594 9306 9900
Total 693 9307 10,000
. oontuniieY . neMaTe < hoveouds
37) What fraction of the people who test negative truly have AIDS” | )
a) 99/100 b) 99/693 ¢) 9307/10,000 @1/9307 e) 6/100 g < st neg
38) What fraction of the peggle who test positive truly have AIDs? i .
a) 99/100 ‘59/693 ¢) 693/10,000 d) 19307 €) 6/100 qo e hoedd o

10
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Exam 3
Chapters 13-15—EV, SE and histograms for chance numbers
Translating gambling games into Box models and computing the EV and SE for the sum, average and % of n draws
from a box.
°  EV of the sum of n draws from a box = n times the average of the box
* Know the 3 SE formulas on page 162
°  Know the short-cut formula for the 8D of boxes that just have 2 types of tickets on page 156
*  Central Limit Theorem—The probability histogram for all possible sums (or averages, or percents) of draws
from a box will get closer and closer to the normal curve,
*  With enough draws we can use the normal curve to figure the chance that the sum (or average or percent) of
the draws will fall within a given range by converting the endpoints of the interval into a Z score
Z = Value — Expected Value/ SE

Sample Questions

The next 4 questions pertain to the following situation:
A 100 question multiple-choice test awards 4 points for each correct answer and subtracts | point for each incorrect answer.

Each question has 5 choices.

1 Suppo;c;, a ;n;(izn[l;;g;;scs;:tgt ;a:;i;r(;q on each question, what is the correspondl?g_t_)_g. odee\lg | Cof 1RO OYSWer
|8 ~Heve ave 4 incoirect anNSWRSS

b) It has 100 tickets: half 1's and half -1’s i L\ \

¢) It has five tickets: 1,0,0,0,0 x l - "

d) It has five tickets: 4,0,0,0,0 L —" - on \)w\r’r\%ﬁm”x%@
@ It has five tickets: 4, -1,-1,-1, -1 you witl el

2) The expected value for the student’s score is  E\flsuyyy = N*QVE = {000 < O Qve of boX -
KL‘) ki Q(—D .0 o
@O b) 10 ¢) 20 d) 40 e) 50 5 ~ -S: -
3) The standard error of the student’s score is YTguyn = SDG'_\ s Q\(Td@ = 20
(3 o= - s s &

b) 4 c)2 d) .2 e) not enough info

4) Now suppose you’re just interested in how many correct answers the student would get by guessing, not his score. Then the
EV =20 and the SE = 4. Suppose the student needs to get 27 answers correct in order to pass. What’s the probability the

student will pass? (Hint: convert to a Z score, and use the normal curve). 7 = VOIUE~ . A7-20
a) 2% éz@% ¢) 8% d) 10% €) 20% e - oo ls

The next 10 questions pertain to tossing a fair coin and counting the number of heads:

Wlof G010 [INUTe

5) The appropriate box model has | ] 01
‘ Two tickets: 1 and 0 PN SN
b) Two tickets: 1 and -1 head “no heod”

¢) Thousands of tickets marked with 1’s and 0’s. The exact percentage of each is unknown and estimated from the sample.
d) A box model is not appropriate for this situation.

6) If you toss the coin 100 times you’d expect 50 heads, give or take heads . Fill in the blank with the correct SE.
SEsum = SB{N
. 10 ~= 1 -
vz wa (s @ 9% = (107 = e

se =2 Nloo =5

7) What’s the chance you'd get within 5 heads of 50?7 (between 45-55 heads)

a) 34% b) 38% @68% d)95%
8) If you toss a coin 400 times, you’d expect to get 200 heads, give or take heads . Fill in the blank with the correct SE.
a) 2 b)25 c)5 @ 10 e) 20 3e= %D(f}'
=11 = i
9) What's the chance you’dget within 5 heads of 2007 (between 195-205 heads) ( /7‘) “oo 10
a) 34% 38% c) 68% d)95% L
o To Z-ores 11
7= Value- €V 5 Fwlps Wo'lo 2= |95-200. _ & | 72 PAVES
-«-"S"é‘“' X 1O N 7
Z2=55-30 = - 0 1 - A5 -200 g
5 | ' 2= S22 B S & ¢ S
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10) If you toss the coin 100 times you’d expect 50% heads, give or take % . Fill in the blank with the correct SE.
ST/ = S L LD
a) 2 b) 2.5 @5 d)10 )20 v=The == %100 = 2= X100=§
\a V100
11) What'’s the chance you'd get between 45%-55% heads in 100 tosses? - value - ; " .
2) 34% b) 38% @68% d)95% z _.._"‘%;E.Y;D Z=4%-50.
St o3
12) If you toss a coin 400 times, you’d expect to get 50%, give or take %. : 7 = BS-50 ]
a) 2 @2.5 Qs d) 10 e) 20 T S
o
13) What’s the chance you’d get between 45%-355% heads in 400 tosses? 5 D )
e a) 34% b) 38% c) 68% 5% T T gt g | = ;(-—— GO =
7 S L4 m &) L{’DC)

/. .
" Question 14 a5
Fill in the blanks to make the statement true
In general the more times you toss a fair coin the likely you are to get closer to 50% heads, but the likely

you are to get closer to exactly half heads.

Fill in the first blank with @ more b) less c) equally

Fill in the second blank with a) more @ less ¢) equally

e
S

z_: 55"’60 -
FAN ?

12
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The next 4 questions pertains to the 3 boxes and 4 histograms below: 7\‘\'6\ \ (10 pts.) C\O\ \DD
¢ z
vQ .. 1 O : \lL
Box 1 N> ‘{ Box 2 o Box 3 o
oG] @ ofo]'s [1] 990]'s 1]
Histogram A Histogram B Histogram C Histogram D
o } JE—
ave =f50,)38D = § Ave SD = (.994 e =f104 3D = 2 &ve = 1, SD = 0.707
a, \
AAE;I i” l' kir !
T T
3040 50 80 170 -5 0§ 10 1s S G 5 10 15 20 2%

Fill in the blanks below to identify the correct histogram. Use each histogram exactly once.

15, The probability histogram for the sum of 2 draws from Box 1 is Histogram Chooseone: A B C @

16. The probability histogram for the sum of 100 draws from Box 1 is Histogram Choose ane:@ B C D
EV=nave = i0(-5)= BO ‘

17. The probability histogram for the sum of 100 draws from Box 2 is Histogram Choose one: A B @ D
EV=n.ove = )OO('/;D =10

18.The probability histogram for the sum of 100 draws from Box 3 is Histogram Choose one: A @ C D

gv=n.ave = 100(}/1o0) - |

Chapter 16-18

Sample Surveys—
Random Samples are best for the same 2 reasons that randomized experiments are best:

1. They eliminate selection bias
2. They can be translated into box models so you can attach error bars (SE’s ) to your estimates.

Box Model for Sample Surveys: (See box model summary on page 188 in the Notes)
*  The box has 1 ticket for every person in the population.
» A random sample is of n tickets is drawn from the box without replacement (because you don’t want to sample

the same person twice).
*  You know the average or percent of your sample and you use it to estimate the average or percent in the whole

population.
*  Of course, the average or percent in your sample won’t be exactly the same as that of the population, because of

chance error (samples will vary because of the luck of the draw). As long as the sample size is big enough, the
probability histogram for the sample average and percent will follow the normal curve so we can attach SE’s to
our estimates and build confidence intervals.

*  Note: The size of the population doesn’t affect the accuracy of our estimates, only the size of the sample
matters. The bigger our sample size, the smaller the SE for averages and percents.

Sample Questions:

19. City A has 1 million people and City B has 9 million people. A simple random sample of 1000 people is taken from City A
and a simple random sample of 1000 is taken from City B. Other things being equal the sample from City A is
the sample from city B.

a) 9 times more accurate b) 3 times more accurate@ the same accuracy as d) 9 times less accurate e) 3 times less accurate

%bﬁ\.\ﬁdims on N (\*bwsmp‘)e (WY — v the Sme,ﬁ--lé

Jour e (and acuxmuﬂ\ will petre sameg
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The next 2 questions pertain to the following situation:
A recent Pew Research Center Poll asked a random sample of 1,211 adults nationwide the following question: “Do you think a
woman should be able to get an abortion if she decides she wants one no matter what the reason.”
I posted the same question on last semester’s Bonus Survey. Here's the results of both surveys:

Yes No Sample Size
Pew Research Center 18% 82% 1211
Bonus Survey 46% 54% 631

20) As you can see, the results of the 2 polls are quite different. Which survey gives a better estimate of the percentage of all
US adults who would answer “yes” to this question? Choose one:
a) The Pew Research survey because the sample size was larger. K went be T
pONUS Smeﬂ pecoldSe

b) The Bonus Survey because we can be sure it was an anonymous survey.
The Pew Research survey because the people were randomnly drawn from all adults nation-wide. | ofF biaS

(not random ) ¥ TDO
21) What is SE of the sample percent for the Pew Poll? Choose one: ToYowW

9) It’s not possible to calculate a SE for this sample because we don’t know the SD of the sample
10) It’s not possible to calculate a SE for this sample because we don’t know the size of the population.
10 The SE of the sample percent is approximately 13.4%
The SE of the sample percent is approximately 1.1% \-)E.. r )( 0D = J 2% X, Y00 < I j
= .

1At

The next 3 questions pertain to the following:
A recent Gallup poll asked a simple random sample of 900 adults nationwide how much they spent on Black Friday. The

sample average was $400 with a SD of $300.

22) What most closely resembles the relevant box model?

a) It has 900 tickets marked with "0"s and "1"s.
b) It has about millions of tickets marked with "0"s and "1"s..
It millions of tickets. On each ticket is written a $ amount. The exact average and SD are unknown but are
estimated from the sample. L W are (00N ok o Mmuch They Spant
d) It has 900 tickets. The average of the tickets is $400 and the SD is $300.
23) 900 draws are made replacement.
SoMpiing Peepie = dant repiace
Choose one: a) With @ Without P cj peop P
24) What is the SE of the sample average? - .
) = ’ ) 5= D = 300 —@9“‘0
a) $300 b) $30 @ $10 - d) 3100 e) $0.33 ove i \j 30

25) If a 95% confidence interval was constructed from this sample to which of the following populations would it apply?

f) Al US females

Al US adults Sawnpled ol aduts naxionwide —
h) Al Illinois adults SO o-pPhies o all U adiudks
i) All middle class US adults

i L cont NArrow tdown
j)  All of the above \ LaN fosrtner

The next 5 questions pertain to the following poll:
A CBS News Poll conducted on Oct 24, 2011 asked a random sample of 1,600 adults nationwide the following question: "Do
you think the distribution of money and wealth in this country is fair or you do you think wealth should be more evenly

distributed among more people?" 26% answered “Fair”

26) What most closely resembles the relevant box model?
a) It has 1600 tickets, 26% are marked "1° and 74% are marked "0"
It has 1600 tickets with an average of 0.
It has millions of tickets marked "0" and "1", but the exact percentage of each is unknown and estimated from the
sample. G we dont wKnow
wnak ad Yaduds SOA{I i
30 We esTimadRrom

e soMpic
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27) The draws are made replacement. a) With @Vithout 30m p i \‘ﬂ% p@QP]C =
don'¥repiace

28) Which one of the statements below is true?
a) The expected value for the percent of registered Democrats who would answer “Fair” to the question is 26%.

b) The expected value for the percent of corporation executives who would answer “Fair” to the question is 26%.
The expected value for the percent of Chicago residents who would answer “Fair” to the question is 26%.

<)
SN sy ihe sbove are tue. | we sempled all aduds naronwide- we cant
NAYFOW OW FRSLUTS down o & sgecifre group
29) Is it possible to compute a 95% confidence interval for the percent of all US adults who would answer “Fair” to the question?
EV+/-JSE rondom samp i<
a) Yes, a 95% confidence interval is approximately 26% +/- 1.1%
a”) Yes, a 95% confidence interval is approximately 26% +/- 2.2% SEo, - SD N 20X A -
, . /e~ - X100 = 2”2 «100 =
c) No, because we’re not given the SD of the sample. Vﬁ ) ) Io.
d) No, because we cannot infer with 95% confidence the answers of 200 million Americans from data bageg onasampl '’ fe
of only 1,650 randomly selected Americans.
30) If the researcher decreased his sample size by a factor of 4 (to n=400) then the width of the 95% confidence interval

~yould ...
increase by afactor of 2 b) increase by a factor of 4 ¢} decrease by a factor of 2 d) decrease by a factor of 4

Ny SEf2 fo,%x[oo

A wrare dividin denominaror
by 2 (ﬁ)ﬂ

IF e were to InCrease the sample size by 4 1 woud pe e
Opposite- e wouid divide by 2

\ou Cun giso pi ug this 1nto what Gou did above
%o - LT

100 = &.au!
Vaos

€ doubled!
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UBQ S\Am Assuming the null hypothesis to be true, you would expect me to answer

EV=n-ay
23605
=18

SE = SD

-

2
D
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Post Exam 3 Chapters 19=-22 o Significance Tests
All significance tests are based on box models and tell you whether some difference between what you observe and what
you expect is likely to be due to chance or not.

Chapters ©

The one sample Z Test

Null Hypothesis: The population parameter is a particular value (given by the null box) and any difference between

our observed sample and what we’d expect is small and just due to chance variation.

Alternative Hypothesis: There is some other reason besides chance that explains the sample data.

Compute the test statistic:

Z = (observed — expected)/ SE

Compute P, the area of the tail. P tells you how likely it would be to get our data or something even further from the null, if the
null were right.

The convention is to reject the null when p < 5% and call the result “statistically significant” and when p <1% call the result
“highly significant”. There’s no particular justification for those values. In other words, a p-value of 4.9% isn't really much
different than a p-value of 5.1%, people just like to draw the line somewhere.

The next 6 questions pertain to the following situation:

I think I have no musical ability. To test whether I'm right about that, I took a musical memory test online that had 36
questions. For each question I had to choose whether a sequence of notes were the same or different. I answered 24 of the 36
questions correctly. The null hypothesis is that [ was just guessing.

1) Which of the following most accurately describes the null box?
a) It has 36 tickets, 24 marked "1" and 12 marked "0"
b) It has 36 tickets marked either “1" or “0” but the exact percentage of each is unknown, L it - and
@ It has 2 tickets, 1 marked "1" and 1 marked "0" —{0u Mzwunﬂngﬂﬁmmme( qou gcr ( \qht' ana you

W making a box for

2) The draws are made replacement. @with b) without i Q'UCST‘DY)

questions correct, give or take

questions. ' [ T T D]
3) Fill in the first blank in the above sentence with the correct expected value. (E\/sumw L—l— 'L—
: - 0 - ~
€ a) 12 18 021 d) 24 ¢) 18 ves —== 0.9

3= J1-olNL W = 0.5

4) Fill in the second blank in the above sentence with the correct SE. (SE S\)\Y‘Y\\

g§’/ 2) | b)2 (s &) 4 a9s .
e B%fThez-statistic for testing the null hypothesis is 9‘3_5;9‘3 = M - — = 02

SE 3 3
a) 6/SE for the average 6/ SE for the sum ¢) 7/SE for sum d) 6/SD of the box
L e 1s 3!

6) The P-yalue is closest to ...
2.5% b) 5% c) 16% d)21% e)11.5%

3.5

16
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The next 6 questions pertain to the following situation:
An internet access company that serves millions of customers claims that it takes an average of only .8 attempts to connect
with their service. To test this claim, a consumer advocate looked at a random sample of 400 connections and recorded the
number of attempts required to establish each connection. The average of the 400 observations is 2.1 and the SD is 5.0. We
want to decide whether the observed difference between 2.1 (the sample average) and the claimed box average of 1.8 is due to

chance or not.
millions of Hocets

7) The null hypothesis box is best described as: bm{« WZ az IOCKM ‘
a) containing millions of tickets, each marked | or 0, where 1 denotes that a connection was made. Mﬂ/g £ e PCP\,UOﬁ

b) containing 400 tickets, each marked 1 or 0, where | denotes that a connection was made. - (n=40D picgomple 4och
@ containing millions of tickets with whole number values such as 1,3, 5,2, ... — The valiies epresent He
d) containing 400 tickets with whole number values such as 1,3,5,2 ... (mcer OQ“\‘HQS /&'H'empﬁ
It toolto Wnne et
8) The average of the null hypothesis box is: 1.8 b) 2.1
L his 13 Whar THE Company Gouras

9) The SE of the sample ayerage is closest to: = - D 5 B .
2) 0.05 @0.25 0)0.50 )50 €)20.0 SCave = " (G0 0 =
10) The z-statistic is closest to: DhS~ex: D]
2)0.15 b) 0.12 906 1.2 €) 60 Z:’S—EJ{/EE = Q‘;g‘%: .2
11) The p-value is closest to: 2) 77% b) 23% IN15%
12) The most reasonable conclusion is that: W& h ! ‘\\So/o o117 z
. the observed difference could be due to chance \ P,
we C(X_n{\(j‘f’ . . b) the observed difference is real, i.e., the box average is greater than 1.8 { } # A ] i )
f@j@@’mm“ 41 0 i1

The next 3 questions pertain to the following situation:

A computer program is supposed to randomly generate the digits 1, 2, and 3 so that the chance of each is the same, 33.33%.
The computer generated 3000 of these numbers, and there turned out to be 1032 I's. Is that too many 1's? You now want to do
a hypothesis test to see whether the computer program is really working the way it should.

. ( ol
13, The null box for this hypothesis contains \JSU‘\‘Q‘(Q m‘f‘lrgﬂt }\)C)H'O contain
a) 3000 tickets: 1000 1's, 1000 2's, and 1000 3's. l s angd "'not 15

Three tickets: one | and two 0's.
€) A very large number of tickets with 0's and 1's on them, but we do not know what the percentages of 0's and 1's are.
d) 3000 tickets with 0's and 1's on them, but we do not know what the percentages of 0's and 1's are.
e) Three tickets: one 1, one 2, and one 3.

14. The standard error for the number of I's you should get in 3000 tries is about 26. The test statistic for testing the null
hypothesis is closest to

a)0.011 b) -1.23 @1.23 d) -0.81 e)0.81 [ [::] ]%) \

15. What should we conclude from the hypothesis test? ;
a) We are sure that the computer program is working correctly. ave = 1N+ (O> - ..L
We are sure that the computer program is not working the way it should. ' 3 -3
f We are not convinced that there is anything wrong with the computer program. .
d) We reject the null hypothesis. £ vSm TNave

o 23000 (% ): 1000
[00-T7% . Y
AUShIA “27‘“ Z=0bs-exp _ 1032~ 1000
SE 97L9
= |, 2%

P:: ” o/o 17
Therefore we qnt
rzéﬁcfﬂ\_e nuil and It
tould be due +o chanee
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Chapter 28 The ¢ rest
Use the t-test when
1. You have a small sample n<25
2. The contents of the box follows the normal curve
3. The SD of the null box is unknown, all you know is the SD of the observed sample.

The observed sample SD is an underestimate of the box SD, so you have to adjust it by making using SD+ = \/Ni x
n-1

SD of sample, and using the t-curves instead of the normal curve.
t = (observed ave- expected ave)/ SE ave where SEave = SD+/+/n
degrees of freedom = n-1

The next 4 questions refer to the following situation:

A factory that packages corn flakes is supposed to put the flakes in the boxes so that the boxes weigh an average of 16 ounces
and a standard deviation of 1 ounce. An inspector randomly chose 12 boxes from one day's output of 2500 boxes. These 12 had
an average weight of 15 ounces. (Assume the weights are normally distributed.)

The inspector wishes to test the null hypothesis that the factory is doing what it is supposed to on this day.

16. Which of the following best describes the null box? i i y A
a) The box has 12 tickets, with an average of 180/12 = 15 ounces. gl one dO\M 3 O(Ltp(,\i S 95 C_O
boves and Hhey told US the

b) The box has 12 tickets, with an average of 16 ounces. ‘
¢} The box has 2500 tickets, but we do not know exactly the average. VY aGe. (1+ 1S wWhnod e
Company Clums )

d) The box has 2500 tickets, with 16% 1's and 84% O's.
@ The box has 2500 tickets, with an average of 16 ounces -

5

17. The standard error for the average of the draws is closest to € _
a) 0367 @ 0.288 ¢) 346 4 e) 02 Cove =

18. What test statistic would you use? Z-statistic b) t-statistic ]
bIC WE KnoW-he SDokhe box (1H1S Wit +he Gmpayy dams) =
19. The test statistic is -3.47. What conclusion do you draw?
a) Accept the null hypothesis.

=D
.(F'\
l

b) There is not enough evidence to suspect there is anything wrong, T o 341
Reject the null hypothesis, there is strong evidence that the factory is not doing what it is supposed to, i00-99.95
d) The p-value is larger than 5%. P4<®Y, So ejeckthe null Y — 0.029

20. Now suppose the factory makes the same claim as above, that the boxes weigh 16 ounces on the average, but the factory
doesn’t make any claim about the SD. Instead, the inspector computes the SD of the 12 boxes and finds the SD =1 ounce
‘What is the best estimate of the SD of the 2500 boxes?

a) 1ounce @ 1.049 ounces c) 1.4 ounces Sbr WOU\d \OQTY\Q bﬁSTKSﬂYY\ an.’

21. What test statistic should the ingpector now use? SDi— = bD ,YL, = I _!_?'_ N /; 0 qu
a) z-statistic t-statistic N-| /1
Ls SNUT !
22.1f he decides to use the t-statistic, how many degrees of freedom are there? J= Imall sample (n< 9-‘5)
A== 1d-b =1 7 N-= follows nomnos aurve
a) 2499 b) 12 @ 1 46 U= D of box (faciory Aaims) s uidnun
T:DOTHE T :
23) The instructor computes 2 SE’s, one for the z test and one for the t-test. Which SE should be used for the t-test?
@.3028 b) 2887 SDY 1S jarger than SD becouise we oKL SD- A
You €N Ao plug iNte numiver 1o N
24) What is the value of the t-statistic? @ 33 b) -3.47 0=3.9 cowdote thecic: SE=SD _ 109
[ \;
25) Should you reject the null using the t-test? a) Yes because p>5%@ Yes, because p<5% b) No v 2

ook up 1l degrees of freedom -
t (opled it Below -

c o ¢ of 1% O Y ?)’40%

35% 1% BY% 5% Vb Q5 /.\5\ o

0

o
S0 iak 180 4o a3 ¥ ogu <k
® |

18
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Chapter 2.} The 2 sample z- test
Used to compare averages and percents of 2 populations
Null Hypothesis is that the 2 populations have the SAME average or percent
Alternative is that they’re not the same, one is larger than the other

Z = Observed Difference between the 2 Samples/ SE difference
Where SE difference is the square root of the sum of the squares of each sample’s SE

The next 4 questions refer to the following study:
A study on the amount of time teenagers spend watching TV took a simple random sample of 100 girls and 64 boys and found

the following:

Girls Boys
Ave hrs per day spent watching TV 2.5 hours 2.1 hours
SD | hour 1 hour

The null hypothesis is that the observed time difference between girls' and boys' TV-watching is due to chance. The alternative
hypothesis is that girls watch more TV on the average than boys.

26. Which of the following most accurately describes the null box(es)?
a) There is one null box with 164 tickets, 100 marked "1" and 64 marked "0"

b) There is one null box with millions of tickets each marked with the amount of hours spent watching TV.
¢) There are 2 null boxes, each with millions of tickets. One box has an average of 2.5 and the other has an average of
2.1
, There are 2 null boxes, each with millions of tickets. The 2 boxes have the same average. ’\
There are 2 null boxes, each with millions of tickets marked "0" and "1".

- \d(,(“

Ul
S W pssurne s e
, . growe® saﬂ‘@
27.The SE for the differencg of the 2 samples is closest to
a) 141 @ .1 d) .125 €) 225 HEawe
= E 7 2oy Stgxr\s =D -l .
SEdifé = SEA* + SER* = [ 2 +25° - ==
28. The gz statistic for testing the null hypothesis is closest to N = . o
@2}51 Y )0 SEoys - %:‘Jf:()‘lé)b
. @
7= 00S-eXP o surcase ot&:?x - B2l 5.
SE ' SEdif < 1 ”

29, The p-value is .62%. We can conclude
@ That it's extremely likely that the average time spent watching TV is greater among girls than boys.

b) That girls watch TV more than boys 99.38% of the time.
c) That it's plausible that there is no real difference between the amount of time boys and girls spend watching TV.

> friecr the null Thad Stated the citference bgtween
“boysw girls s due to chance

19
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The next 4 questions refer to the following situation:

A study is done on a new vaccine designed to protect against the common cold. Thousands of people volunteer for the study
but the researchers only have enough money to study 85 people. A simple random sample of 49 people are given the vaccine
and a simple random sample of 36 people are given a placebo.

After 6 months, the average number of days spent sick from colds for the treatment group was 4 with a SD of 2, while the
average for the control group was 6 days with a SD of 3 days . The null hypothesis is that there's no difference between the
vaccine and the placebo.

30. Which of the following most accurately describes the null box(es)?
a) There are 2 boxes, one with 49 people and one with 36 people.
b) There are 2 boxes each with thousands of tickets. The average of one box is 4 and the average of the other is 6.
There are 2 boxes each with thousands of tickets. The average of the 2 boxes is the same.

5 null= "l se e ASUme
o2 bcmgVOLLpSQYQJrVﬁ Soe

31. What is the SE for the average of the treatment group?

2)4/7 b)28 @2/7 Q14 SEWET e tom
32. What is the SE for the diff bet the 2 9 SkeontTol = SIS _’3 = ——3
. al 1s e T the girrerence petween e Z averages!? > - -
& fave) n {2z O
a) 285 b) .5 @.576 d).786 :
~ —_— 2. \2 / ;72_ 2 .
SEaitt = [ (F)+ [ > = 0.57

33, The z-statistic is -3.47, What do you conclude?
; Reject the null because the p-value is less than 5%

)} Cannot reject the null because the p-value is less than 5%
¢) It's plausible that the 2 day difference in averages could be due to chance variation in sampling.

oS

P=0.0a35 — P<D% 0 rejecnull 24 o ¥

Question 34
A researcher discovered a new drug for baldness, and performed an experiment to see if the new drug worked better than the
old drug, Rogaine. (Assume the experiment was double-blind and used randomized controls.) The new drug performed better

in the experiment. The p-value was 18%.

34) Which of the following statements most accurately describes the implication of that p-value:

a) The new drug is significantly better than the old. P N 50/
We can reject the null hypothesis. ©
It is plausible that the superior performance of the new drug was due to chance. S0 we Cﬂnnfﬁ’
( %@(ﬁ’ﬁ: Nl

The next 3 questions refer to the following situation:

Gallup asked a random sample of 400 men and 400 women nationwide the following question: “If you were taking a new job
and had your choice of a boss, would you prefer to work for a man or a woman?" 50% of the women and 45% of the men said
they would prefer a male boss. The null hypothesis is that the 5% difference is due to chance.

35) Which of the following most accurately describes the null box(es)?
a) There is one null box with 800 tickets, marked with "0"s and "1"s

b) There is one null box with millions of tickets, marked with "0"s and "1"s
¢) There are 2 null boxes, each with millions of tickets. One box has 45% "1"s and 55% "0"s and the other has 50% "1"s
and 50% "0"s
There are 2 null boxes, each with millions of tickets. The 2 boxes have the same percentage of "1"s and "0"s.

A= Hdudi - weaswr both?

36) The SE for the 2 sample percentages are both about 2.5%. Y el
The SE for the difference of the 2 sample percentages is closest o C\S(DQPS Qe ’mf,

2) 2.5% b) 0% ¢) 5% @ 3.5% J_,_)_.__.___— |
2 2 -
0('36 {' c;216 - \7)7 5\%

37) The p-value for testing the null hypothesis is closest to

2) 0% b) 1% ¢) 5% @ 8% ¢) 84%
20

SO . Bo-uUn 2 ] A
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Chapter 22

The Chi-Square Goodness-of-Fit Test

Used to decide whether the observed data fits a specified model when the model has more than 2 catergories.

With 2 categories (0-1 box) we use the one sample z test.

Null Hypothesis: The observed data fits the model “good”. (The difference between the observed and expected is just due to

chance.)
Alternative Hypothesis: The observed data does NOT fit the model “good”. (The difference between the observed and expected

are too big to be due to chance.)

Chi-Square Statistic = sum of (observed frequency — expected frequency) %/ expected frequency
Degrees of freedom = # of categories -1

The Chi-Square Independence Test
Use to compare the percent composition of 2 or more variables when each variable has 2 or more categories. With 2 variables

and 2 categories you can use either a 2 sample z-test or a chi-sq ind test.

(You can think of the Chi-Square Goodness-of-fit Test as a 1 sample test, comparing the percent compostion of the sample to
a null box that has multipie categories and you can think of the Chi-Square Independence Test as a 2 sample test, comparing
the percent composition of 2 populations when each population has multiple categories. )

Null Hypothesis: The 2 variables are independent. (The 2 populations have the SAME percent composition; the difference

between the observed and expected frequencies are just due to chance.)
Alternative Hypothesis: The 2 variables are dependent. (The 2 populations have different percent compositions; the difference
between observed and expected are too big to be due to chance.)

Chi-Square Statistic = sum of (observed frequency — expected frequency*) %/ expected frequency
Degrees of freedom = (# of rows -1) x (# of columns -1)

#To figure the expected frequency for each cell: multiply the row total x column total/overall total

The next 6 questions refer to the following situation:
A certain University has 30% freshman, 25% sophomores, 25% juniors and 20% seniors. A group of 200 students are chosen
for a survey. The group has 30 freshman, 40 sophomores, 60 juniors and 70 seniors. The null hypothesis is the students were

chosen at random.

Expected Percents Observed # Expected #
Freshman 10% 30
Sophomores 20% 40
Juniors 30% 60 60
Seniors 40% 70 80
Total 100% 200 200

38) To test the null hypothesis that the students were chosen at random we’d do

the chi-square test for "goodness -of-fit" — trere is [mmp\e (\{Q(Uf Inschool ) Mot nOS AT teaie S
) the chi-square test for independence ﬂ

¢) the one-sample z test

d) the two-sample z test

The table above is missing 3 values. Fill in the missing values by answering the following 3 questions:

39) What is the exgected number of freshman? . ~~N L A
a) 10 @20 930 d)40 €50 0% of 00 = . 10(200)= J0

40) What is the expected number of sophomores?

g O = ™\
a)l0 b)20 )30 @40 e) 50 Jo% oF 200 = .QU(QL)C) 40

41) To compute the proper test statistic you’d sum 4 terms: 5+0+ 0+ ___. The term for seniors is missing, what should it

be?
(Oo-exp)  (T0-90)" 100 _) 3¢
P 30 80 :

a)0 b) 1 @ 125 d)143 25




Y2 taiole for #U3 -
Deff 9% 95% qC 6%
3 J/_ :JS/ zDX
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42) The number of degrees of freedom is - i [ .
a)2 3 04 A5 e6 - TFCCH@gCHCS -
43) What do you conclude? Ht -
a) Reject the null because P < 5%  b) Reject the null because P > 5% @Zannot reject the null because P > 5%

X2STahSTC fom 724 = D+0+0+ .45 = (1. 25 Jook s up inthe table (X5 - firol
The next 3 questions refer to the following situation: Hhis Corre PO'”ClS o P= / O 76
A simple random sample of 148 Stat 100 students were asked whether or not they thought they would ever use statistics again
in their lives. Assume the students were chosen from a population of 2000. The following table gives the results:

Tota) -

Hi

~

Would use Would not use Totod
Men 47 21 ¥
Women 64 16 20

19%

™
The chi-square statistic to test the null hypothesis that sex and anticipated use are independent is 2.32.

44. To compute this statistic, expected frequencies were calculated. What is the expected frequency for the men who answer
"would yse? The 1ofals are calculated above - just add
51 b) 47 The TONS+C0lUmns
45. How many degree of freedom does the chi-square statistic have? ﬂml men = (_03 ﬁ’fa/] ALY d s = // /
a)l b)2 c)3 dy4 Ov@ra! m&j L}X
frovs -0 (cdlums - 1) = (1)) (201) = ) Bxpeciud- (67| Iy
46. Can you reject the null hypothesm? Taple: DO{' I3 50% 209 /b ID°/0 5°/u ___W
a) Yes No ’ 4&7 07 Z‘H 3: EX3 .
Pis befugeert 109 ¥ 30% 2.320)is here!

47. We a chi-square independence test and got a statistic of 2.32. Would it be appropriate to do 2-sample z test on this data?

) Yes b) No (Z&CQWgOHﬁS‘*oQ POP&IGJYUI’)S)

c) 44

The next 3 questions refer to the following situation:
The table below shows the results of a recent nationwide poll of Hispanic adults who were asked;

"All in all, do you think the situation for the younger generation of Hispanic or Latino Americans is better, worse, or about the
same as their parents' situation was when they were the same age?"

You may assume that the data are from a simple random sample of 200 people, of whom 100 were over 35 years old and 100
were 18-34 years old.

Better Worse About the Same Total
18-34 49 37 14 100
Over 35 39 45 16 100
Total 88 82 30 200

46. To answer the question of whether the sample data reflects a real difference between older and younger Hispanic
Americans on this issue, you would use the
a) the one-sample z test

b) the two-sample z test
@ the chi-square test for "goodness-of-fit" which specifies the contents of the box

the chi-square test for independence — 2 SAUMPies W I Jor more mwgof)eé
49. To compute the test statistic you need to calculate the expected frequencies. What is the expected frequency for the
18-34 year olds who answer “Better”? #13-34 \{(‘afOldS 100 100 X%
O oM

939 )40 ()44 D45 9S04 peers g3

OVEY 35+ foout +e Same > BOUW- 5

-ap K00
=00
50. To compute the test statistic you need sum 6 tenns:o%%&aJ 16/11%— 15 + + + ﬁ\e popu Warion dvaded
The first 3 terms correspongd to the 1 row of the table and sum td , what is the sum of all 6 terms? J1o6 for e ﬁLX)\ ovis-30
a) 1.5 232 c)3 39 e)s ‘{W st \f\oé(zf m\u
J: 2.08 ) 1,038 T
Expected - 1025 xz\fa\uc:(Obs—exw /exp
O30 + et - S50 LH L () (a5, Lb-15)?
DYRr B+ WO < ‘E&U___ R r e > 309
Li N ST 5
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Chapter 23
Significance rests can only tell you whether or not a difference is likely to be due to chance, not whether a difference was
important or what caused the difference, or whether the experiment was properly designed

By definition, statistically significant results will appear by chance with enough tests. A p-value of 5% means that even when
the null is true, you'll reject it 5% of the time,

Question 51
Which of the following does a test of significance deal with?
@ Is the difference due to chance?
Is the difference important?
¢. Was the experiment properly designed?
d. What are the probable causes of the difference?

The next 2 questions refer to the folowing situation:
100 investigators each set out to test a different null hypothesis. Unknown to them, all the null hypotheses happen to be true.

52. About how many of them would you expect to get statistically significant results?
a. None, if they did the test correctly they would all confirm that the null hypothesis is true.

b. 1 e o , e ) .
' P£BY5 1§ Stosfically Signficant £100 °
5 oi~ C \ z
@3, ~aen i the null 1§ Tepcred e Wouid sl et UOO
e. Impossible to predict. Set e Y\dl\ &prafmﬂ frue S% 0 F e #me

53. About how many of them would you expect to get highly statistically significant results?
a. None, if they did the test correctly they would all confirm that the null hypothesis is true.

; hiqhu{‘ gmﬁcmtﬁme r0oning as ol OF \CU -
d. 95 foow vid” gy SEPIi@nt means P=jey, ol

e. Impossible to predict.

NE \

Question 54
An experiment on ESP is repeated 1000 times. Suppose there is no ESP, and the experiment is done correctly with no

cheating. About how many of the experiments would you expect to find statistically significant evidence for ESP, that is how
many of the results would get p-values < 5%?

" 5% 0f 1000
< L 05(1000)= 96!

¢. Not enough information to determine.

Question 55
A new chemical is tested to see if it causes cancer in lab mice. 250 mice are chosen at random and fed the test chemical in

their food and 250 mice get the same food without the chemical. After 3 years, cancer rates in the two groups are compared

using a 2-sample z-test.
The investigators are looking at about 50 different types of cancer, so they do 50 different 2-sample z-tests. They find

statistically significant evidence for lung and liver cancer.

Is it valid to reject the null hypothesis and conclude that the chemical does cause cancer?
a. Yes, since statistically significant results were found in 2 of the 50 types of cancer (lung and liver).

No, because if you run 50 tests, you're likely to get 2 statistically significant results even if the null hypothesis is
true, just due to the luck of the draw.

405 (60) =
(Seure reasoning as afove)
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